::r\uz‘fse, /rrfa V\Jfap— UP

) = +om—'(2x”> 2 4" (sin |(SXZD

PR B £ 4'= 257 (5 Dr———,.‘lox
l+ (ZXL{) | 2 2’ (5)( )
(51 _ 57(3 5' o ZOX(S;/\— (5X ))
|- asx

| +4x®

5) W= cos ‘/&x 5) @f L dx
A

N I (G R i
Vi-(Cacs 3y = sn(FPre
5> ln l | -\ /X
) Edx = Tan(Bhe
'@ —L—dx o Leec X+
= = Pz
x4 <
= L\X = CS’ (-IA‘
‘I> jﬁ;dx du= Exdx \/?wa et
V- [oxd CLE CSIN ("‘"“) + G
2
%2 =X | -l |
E§>JX3 i‘”—l dx du=3xdx J(& T due = sec \?\ e
= cec M X+ C
A= SKL
CDJ lb)-(::S&“ X o\u-'—‘o’@‘f o —du = K J““"'( e

Scanned by CamScanner




